DIET / DIGESTION ASSESSMENT

20 minutes (25 marks)
1.   Which of the following is a symptom showing lack of Vitamin D?

A. bones breaking easily

B. diminished sight

C. bleeding gums

D. constipation

2. The diagram below shows a cross-section through a villus.  Circle the letter of the part that secretes mucus.
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3.   Tennis players often eat bananas during long matches. Which nutrient in the banana is important during the match?

A.  Fats

B.  Proteins

C.  Carbohydrates

D.  Iron

4. What is the role of bile?

A. Emulsification of fats

B. Storage of proteins

C. Cleans out the gallbladder

D. Breakdown of maltose to glucose.

5.   In which order do these events occur in human nutrition?

A. digestion ( ingestion ( absorption ( assimilation

B. digestion ( ingestion ( assimilation ( absorption

C. ingestion ( digestion ( absorption ( assimilation

D. ingestion ( digestion ( assimilation ( absorption

6. Which of the two statements below are correct?

I – Amylase breaks down large starch molecules into smaller maltose molecules.

II – Chewing increases the surface area of food for digestion.

III – Teeth break up large insoluble molecules into smaller soluble molecules.

IV – Saliva emulsifies fats into smaller droplets.

A. I and II

B. II and III

C. III and IV

D. I and IV

7.  What is produced as a result of digestion by a protease?
A. amino acids

B. fatty acids

C. glucose

D. glycerol

8.  For which food test must the sample be dissolved in ethanol?

A. fat

B. protein

C. reducing sugar

D. starch

9. In which regions of the alimentary canal does amylase act?

A. mouth cavity and pancreas

B. mouth cavity and ileum

C. stomach and pancreas

D. stomach and ileum

10. The diagram below shows a section of the small intestine in which partially digested food is being pushed along.
[image: image2.png]



What is the state of the longitudinal muscles at 1 and 2?

	
	1
	2

	A
	contracted
	contracted

	B
	contracted
	relaxed

	C
	relaxed
	contracted

	D
	relaxed
	relaxed


11. Which of the following would need the highest iron daily intake?

A. newborns

B. 75 year old women

C. boys undergoing puberty

D. menstruating females

12. A person tries eating a diet consisting of only lettuce and water. Which condition most likely might develop?

A. constipation

B. heart disease

C. scurvy

D. night blindness

13. A protein solution is tested using three different reagents. Which set of results is obtained?

	
	
Iodine solution
	Benedict’s solution
	Biuret solution

	A
	black
	blue
	blue

	B
	black
	red
	blue

	C
	brown
	blue
	purple

	D
	brown
	red
	purple


14. Which of these human teeth are used for grinding food?
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A. i and iii
B. i and iv
C. ii and iii
D. ii and iv
15. It has been shown that animals restricted to a diet of milk only, eventually suffer from blood disorders involving a lack of pigment in red blood cells. Which is most likely an explanation for this?

A. Milk is deficient in iron.

B. Milk contains more calcium that is required by most animals.

C. Milk is deficient in vitamin A.

D. Milk contains no roughage.

FILL IN THE BLANKS BELOW:
16. __________________ acid in the stomach helps break down the food into a liquid called ___________. A thick layer of ___________ that lines the stomach walls prevents the stomach from digesting itself. When this layer is limited, an __________ may form.
During this time, a stomach enzyme called ____________ breaks down most of the protein in the food. Next, the food is slowly transported through the pyloric ______________ and into the __________________ where further digestion and nutrient absorption occurs.
17. The _________ intestine is about 20 feet (6 meters) long and has three parts: the _________________, jejunum, and ___________. The _________________ is where most chemical digestion takes place. 
Bile liquid is created in the _________ and stored in the _________________. Bile _______________ fats which aids in the mechanical digestion of fats. The _______________ and gland cells of the small intestine secrete digestive ___________ that chemically break down complex food molecules into simpler ones. These include trypsin (for digestion of ___________),  ____________ (for digestion of carbohydrates), and _____________ (for digestion of __________). When food passes through the duodenum, digestion is complete.
(10)
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